24 YT 22— ILALYS— 108-118-128
10AR
B B W £z =
4
OBE® | 9AEO
5 6 7 11
® @ ® @ @
12 13 14 18
@ @ @ @ @
19 20 21 25
® ® ® ® ®
26 27 28
(4] (4] (4] s
118
B B W £z =
3
108 E@®
2 3 4 8
® @ ® @ @
) 10 11 15
@ @ @ @ @
16 17 18 22
® ® ® S ©
23 @ 24 25 29
30 128 (4] @ e L)
12AH
5 = W 2 i
1 2 6
D D @) @
= S 5 13
@ @ @ @ @
14 15 16 20
® ® ® ® ©
21 22 23 27
) ) ) @ @
28 29 30
pRsg = Reee
O-RED  SBEOBRERE25QMEN OSTe
YK A—FFUATN GRS E

H10R138(A)
H10R138(A) -

RR—"77 AT 1 RILFfEE
11R168B(R)

ERAKDAY

BITENS <G HFHELG LTI, Aﬁ"‘ﬂéh“kl&iﬁﬁ’é‘ﬁ!“b%’d

XAEBFAEEOR. RE - FEORMFFLEFEA.



